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General form of CI

statistic± bound

bound = (critical value)(se) and critical value = z? or t?
For se formulas, see table below

χ2 (Chi-square)

χ2
calc =

∑ (O − E)2

E

GoF: E = npi, df = k − 1 where k is the number of categories

Independence: E = (rowi total)(columnj total)
grand total = (ni)(nj)

n , df = (r − 1)(c− 1)
where r is the number of rows and c is the number of columns.

Simple Linear Regression

Population model: yi = β0 + β1xi + εi
Sample model: ŷ = β̂0 + β̂1x or ŷ = a+ bx
Residual: ei = yi − ŷi

1 and 2 sample formulas
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